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(a) m = 40
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(b) m = 100
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(c) m = 160

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●●●

●

● ●

●

●
●●

●

●

●

●

●

●●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●
●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●●

●

●

●

●

●

●

●

●

●

●

●●●

●

●

●

●

●

0

1700

3400

5100

6800

R
ai

n
fa

ll
 (

m
m

)

(d) m = 100, e = 10 %
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(e) m = 100, e = 30 %
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(f) m = 100, e = 50 %
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(g) m = 100, b  = 20 %
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(h) m = 100, b  = 60 %

New Zealand climate
space density contours
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